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Directions: Test is due by the end ofthe day on Saturday. Submit your answers into 
Blackboard in the same area as the test. If you have any questions call Dave Rado at 
203-715-5478 (during the day) or 203-758-9848 (after 6 PM and weekends). 

Question: 1 QID: 9549 

What is the slope of the line perpendicular to 
the liney = 2x - 5? 

Question: 2 QID:26289 

Find the slope of the line which contains the 
following points: (2, 3) and (-2,5) 

Question: 3 QID: 9499 

Find the slope andy-intercept of 
the line described by 3x- 5y = -10. 

(A) -2 
(B) 1 

2 
(C) 1 

2 
(D) 5 
(E) None of the above 

(A) 417 
(B) -3/5 
(C) 1/5 
(D) -1/2 

(A) m= 3 andb = -10 

(B) m=~ andb=2 
5 

(C) m = -5 andb = -10 

(D) m=2 andb=~ 
5 

(E) None of the above 
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Question: 4 QID: 9517 

A given line has slope ~ and passes 
4 

through the point (-2,5). Find the 

equation of the line. 

Question: 5 QID:48355 

Identify the vertex for the graph of 
y = 0.2(x - 2)2 + 3. 

Question: 6 QID: 48408 

Find the maximum or minimum value of the 
function defined by f (x) = - Xl + 2x + 8 . 

(A) Y+5=~(x+2) 

(B) y = ~ (x + 2) + 5 

(C) y=~(x-2)+5 
4 I 

(D) y=~(x-2)-5 
4 

(E) None of the above 

(A) (-2, 3) 
(B) (2, 3) 
(C) (2, -3) 
(D) (-2. -3) 
(E) None of the above 

(A) maximum of 9 
(B) maximum of -9 

(C) minimum of 1 

(D) maximum of 18 
(E) None of the above 
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Question: 7 QID:48452 

Graph: (A) 

j(x) = - 702 + 270 - 3 

(B) 

(C) 

(D) 
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Question: 8 

Solve for x 

7x-16< 8x+2 

Question: 9 

QID: 42811 

QID:47422 

Find the inequality whose graph is shown 
below. r I I I I I I I • I • I I I I I I ~ ~I 
_ -8 -6 -4 -2 0 2 4 6 . 

Question: 10 QID:41926 

Solve: 
14x - 21 = 6 

(A) (-00,-18) 
(B) (-00,00) 
(C) (-18,00) 
(D) (-18,18) 
(E) None of the above 

(A) Ixl<l 
(B) lxl >1 
(C) IxP: 1 

(D) Ixl ~ 1 
(E) None of the above 

(A) {2, -1} 

(B) {3,%} 
(C) {_%,~} 
(D) {-2,-1} 
(E) None of the above 
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Question: 11 QID: 43131 

Find the midpoint of the segment whose 
endpoints areA (6,4) andB( -5,9) 

Question: 12 QID: 18453 

Identify the center and radius of the circle. 

(x2-4x+4)+(y2 +6y+9)=16 

(A) (~ 13) 
2' 2 

(B) (2,- ~1) 

(C) (2,-%) 
CD) (~,_%) 
(E) None ofthe above 

(A) (-3,4),4 
(B) (2, -3), 4 
(C) (3, -1), 16 
(D) (-2, 3), 8 
(E) None of the above 
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Question: 13 QID: 9326 

Oloose the graph of - 2x + 3y = 1. (A) 

(B) 

-5 -4 -3 -2. 

(C) 

(D) 

-5 -4 -3 -2 

(E) None of the above 

5 

4 
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5 

4 
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4 

S 
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4 
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-3 

-4 
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Question: 14 QID: 44584 

Given / ( x) = 13x - 21 find the value of 

. /(-4)+ /(-1). 

Question: 15 QID:45192 

Find the slope of the line passing through the 
given points: 

(1 1) (3 4" 2'"3 and 4' 5) 

(A) 15 
(B) 9 
(C) 8 
(D) 19 
(E) None of the above 

(A) 28 
15 

(B) 3 
10 

(C) 15 
28 

(D) 10 
3 

(E) None of the above 
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Question: 16 QID: 45323 

Graph the line that goes through the origin and (A) 

has slope - ~ . 
5 

(B) 

(C) 

(D) 

5 -4 -32 

·5·4 

5 .! 

4 
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-4 
-5 

1 3 4 5 
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Question: 17 QID: 27189 

Th . f 1" 2 e equatlOno a me IS 2x--y = 4. 
3 

Find the slope and the y-intercept ofthe line. 

Question: 18 QID:45591 

Which shows the equation of a line, in slope­
intercept form, that passes through the 
point (- 5, 5) and has slope - 4? 

Question: 19 QID:45966 

Given the equation y + 2 = 4( x-I), 
find the slope and a point on the line. 

(A) slope = -4/3 
y-intercept = 4 

(B) slope = 3 
y-intercept = -2/3 

(C) slope = 3 
y-intercept = -6 

(D) slope=-2 
y-intercept = 5 

(E) None of the above 

(A) y=4x-15 
(B) y=4x+15 
(C) y = -4x+ 15 
(D) y = -4x-15 
(E) None of the above 

(A) m=4, (1,2) 

(B) m = 2, (4,1) 
(C) m = 2, (4, -1) 
(D) m = 4, (1. -2) 
(E) None of the above 
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Question: 20 QID: 9532 

GiVen the graph, find t~le equation for the graph. (A) 4 
y='-x-2 

3 
3 

2 

(B) 4 
y=--x-2 

3 
(C) 3 

y=--x-2 
4 

-5 -4 -3 -2 -1 
-1 

5 
(D) 3 

y =-x-2 
4 

-4 
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